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Solve each quadratic equation using the indicated method.

1. Quadratic Formula: 6x’ = +3x -2
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2. Completing The Square: x” +8x -36 =0
x4 ¥x =36 ~0
s> 4+ ¢ =36
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Solve each quadratic equation using the indicated method.

3. Factoring: 4x? +24x +35=0
(2x 4»7);/(,%( +5>""O
DA =0 Ay tS=0
Aw 7= : Ix= 5

4. Square Roots: 2(x+4) —10 =24
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Find the discriminant of each quadratic equation then state the number and type of solutions.

5. x2+9=-5x
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X +Sx+9 =0
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6. 2x* =-5x+3
2 5x=3 =0
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Simplify the following expressions.
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Solve each equation using the best method.

11.2x° +24 = 4
= =iy
XY= ~(O

12.(x+2)?*-30=15
(st)* = 4S
Yt = 308
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13, x* 4 10% = -4
w4 0% 126224 £)5
(xt5) 2= 2\
wt+5 = iJE

14.x2+8x-9=0

( >( }'Q)’(X'U =g

X+G=0 Z ¥—-| =0

15.5x +éx+1=0 ‘
(Sx+ ) Yx+1)=0
Sx4120 etz

Sx=-1

16. x> =6x+10=2
X -Cx3g =0
(Y’q)'(x').\ =0
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